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____________________ 
*  	n o� �= p��d�% (REC533)	������ ,-. � 	T����� &'���� ��>��8� <=�G� b���  q(C 	���$���� �B�G2B� R�S� ;��� � 

>gi� � 	6'7�� �� ��0�� 	�r(� _Gs�� 3	���$���� �B�G2H� . 
**  H�	���$���� �B�G2B� <�6� 	d��N 
� 	�= – ��U�G�� q(C 	�u��� �H�0K2 :(Q$N 1� 3� 18� 23 	�g�(62�� 	s#��� � ) 	�$�K��

 !�1��� � !$�����(3 ����T � 2008. 
1   
C 	(G�� ����(K� $�JB� �T��	C�9wo� �= p��dx� 	'=�G�� ���*��^� 
�   .�� 
� 0�g� ������;8��� 	����� ITU-R BS.705. 
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   2.2.5.3  �^�+ |��r�� ��c#�(km) dmax 
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4  	1'S��% <rz� ��$$�2 qG�NE 
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 >g�i�2 j	�c� �d��X� 	8��� ]�w !0� ~ ���  
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 2.5 �r�� B ��c#� �^�+ |�km 7 000 
  1.2.5 !09�K�� <��� X� 
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 3.5  �^�+ |��r�� ��c#�km 9 000 
 4.5  5% ��c#�7 000� km 9 000 

6 �'1�#�� � !�#���� 	S ���� !�01�� 
 >g�i�3 j/����� >�$a% &'����  

7 >���?�� @A !����� 	'#�� }�h7�� ~ ���� 
8 �� !0� 
� Y�QN 	���� <#d �8N 
� >���?�� @A !����� <#d� 	('1�#�� !����� !�0�� 
}c� �d��X� ]�

:���� 
9  �9K�#� $$�2 {$N(LUF) 
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10  	� � X� !��0�� 	�$�9�C�(BCR) 
 1.10 3��(��4 	(67�� 	9�dX� 	�$�9�C� 
 2.10 ��� 0�04 !�C��� ;� 3��9�� 	(67�� 	9�dX� 	�$�9�C�	('1�#�� !����� $$����� :� 
  1.2.10 /����� ��9(K� 
  2.2.10 ��7�dB� :�� 
  3.2.10 	�$�9�CB�% &'���� >��8A 
 3.10 >��� B� ~Q 0�C ��W�dB� 
 ���-���1  )U(9(�1 j 	�����6�0�� ��8��� ������ `*��� B� ��W�dB� yE�� (HF) 

1 ����� 
 )'S�� �-.�(J }&'���� >��8�� @A �^�+ �G� ��c#� @A 	'#���% 	K�X� c#� �km 7000 3��'��� 	G(s�#� ���HC� 


 ���2 ��c#� ���1�� ���SK� ~'� 
� 3��HSd� <��� \�( N �km 9000 q(C 5�1��S�� 52�. 5% 3��(Q�$ 3B�96� �� 

 5% ��T�#�� Y0�7000� km 9000. 

�$$���� qG�X }�h7�� ~ ���� $0�� 	(9K�#�� �MUF !�01��� !$����� 	�c� �d��X� 	8��� ]�w !0�� 	� � X� 
5K� <#6%� !��#Q M�$ ]�'1� � `*��. 
� �'1�#�� � !�#���� . !��1�� �1d 	���� ��9(K� 3���012 	1��S�� �972�

	�9���� 	9�dX� >�$a% &'���� � �h��0s� B .$�9�C� ��012 ���uX )*��S�� qSK2�!��0�� 	� . ������� ]�w !0� l�� ���12�
 R�S1��% ���� ���1�� ���SK� D�'� 3�1T�ITU-R . 
�� 	�c� �d��X� _*�G�� 
� $0C $0� MN 	1��S�� ,-. <(S�2�

 0�C ��7�dB� ��9(K�"l6J m�1d "!$0�. 
 >�#�� ��C�  �� 	�*��� B� )+���� � ��N)`(e� :������%(2 �GJ 0� 
 	��'�� ���1� � /0C �.k$�� &'���� p*��d � ��.��7

	1��S�� ,-. ��%�#= � 3���4 �Q0� B }-�� ��X� 	�(e� 	�c� �d��X�. 
 
 
 

i�� >g1 

�������� �%&�' 

2 (�"��� )��* +,�� �
�- 
 �'1�#�� ;���� � ��� ;��� 5% q9�K�� !�*�0�� c#� ]�+ q(C ��7�dB� l�� Ma% ����� <��� X� xCE)  	T�#� �=

km 4 000 ( <��� X� xC�F2) ��T�#�� �� @A 	'#���% .( ]�0i� � 5'� �. �9'#= l6U��� m�1d q1��2�1 ]�S� 3�K'2 
	#��K�� 	1'S(�� c#��. 
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 ]�0i�1 
 )��* +,����� ������ �
�- .�/ 0� (�"�MUF ��
��� 1234 56�67� E8 

�� 9���*:� ��;�<'��4=><6�*�
7� ?�@��:�4 8A��B�� >&� =4C� 
 

 N (  $$����MUF�� 	'=�G�� ��d���6��� M���$ $$�2� ` � X�  
 8>&��  ��(km) D  1���67�E  1���67�F2 

0 < D ≤ 2 000 M M 

2 000 < D ≤ 4 000 T + 1 000, R – 1 000 – 

2 000 < D ≤ dmax – M 

D > dmax – T + d0 / 2, R – d0 / 2 

\( <rz� 	1'S��% E 

 8>&��  ��(km) D   1���67�F2 

0 < D ≤ 2 000 M 

2 000 < D < 9 000 T + 1 000, R – 1 000 

y( ��C��2��R�K7�� c#� }����� ��6KdB�  
 8>&��  ��(km) D   1���67�F2 

0 < D ≤ dmax M 

dmax < D < 9 000 T + d0 / 2, M, R – d0 / 2 

$ (  �� 	'=�G�� ��d���6��� M���$ $$�2� }c� �d��X� ��G��B� 
8>&��  �� (km) D 1���67� E 1���67� F2 

0 < D ≤ 2 000 M M 

2 000 < D ≤ 4 000 T + 1 000, M, R – 1 000 – 

2 000 < D ≤ dmax – T + 1 000, M, R – 1 000 

dmax < D < 9 000 – T + 1 000, T + d0 / 2, M,  

R – d0 / 2, R – 1 000 

M: >&�� E@��� ���* 
T: � ��� ;��� 
R: �'1�#�� ;��� 

dmax:  \�( X� � !g�1(� ]�+ qG�NF2 
d0: {$N 	'2� 
� \�( X� � !g�1�� ]�+ 

 ����(�6��% ��T�#�� ��012(km). 

3 ����FB���4 ��6�67� ��G��&�� �������� H@,/ 
K�#� $$�2 qG�N ��012 l�� �9(MUF) q(C 
	���$���� 	�0s(� ]�'1� ��f72 5�a�% �9#� $$�2 q(CN }N 
`(�f72 

5�(=�� : $$���� ��012 3B�NMUF !�C��� �9#� ��UG2 ���C 0�0J 3��d��� 
	�c� �d��X� ��9(K�� 
� 3��HSd� ` � X� 
 $$���� 
� q(CN ��$$�2 0�C ��7�dB� �����MUF` � X� . 
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1.3 ��� H@,/��6�67� ��G��&�� ����� 
 	(9K�#�� ��$$���� qG�N �012MUF 	�c� �d��X� 	1'S(� 	8�z� ��$$��(� 3�1T� ��7�dB� <��� N �(�s� 	� � X� 

 <��� X� -Q&2 ��0�C !g�1�� ]�S% )(K�� ���K�� 
	(%�1��E� F23�K�  . 
�$$���� 
� q(CX� $$���� M�6�MUF 5� � X� 
5%�( X� � E� F2 $$���� �. 	'2� {$N 
� MUFc#9(� ` � X� . 

2.3  ��
��� I�J� ������(foE) E 
 $$���� $0�foE 	������ � ���K� �. �9� IRU-R P.1239. 

3.3  ������MUF ��
��� 56�67� E 
 	9�� ��012foE ]�0i� � !$����� l6U��� m�1d 0�C 1N (��c#9(� 	'#���% l�1�� �f�N ����� 5% �^�+ b����� P�� 2 000 

�km 4 000 . $$���� 	������ 	�HK�� `SK2�MUF \�( X ` � X� E $0K% n ]�S% c#� q(C ��g�1�� 
� D: 

 110secfoEMUF)(E iDn ⋅= (1) 

 ��=i110 ,�0� !g�1�� ~ � 	S1d 0�C }����� ��6KdB� 
� R��2�� q(C $����� 	���| `. km 110g�� @A 	'#���% 
 !
]�S% :D/n = d. 

 $$���� M�6��MUF 	1'S(� ` � X� E 	9�� �. c#�� q(C E(D)MUF \�( X� 
� 	'2� {$N � E. 

4.3  ��
��� KL�@MF2 
 	�c� �d��X� _*�Gs(� }�h7�� ~ ��9(� 	�9���� �H�W9��� -Q&2foF2� M(3000)F2 `#97�� ���0�� P9�1� R12 = 0 

�R12 = 100��� 
� �h� �6��  	���ITU-R P.1239 R��2�� 0�C `#�S�f�� ]��� �01� ��= km 300 . ,-. �9K�#2�
 ]�0i� � !$����� l6U��� m�1d @A� 	%�(S�� ����X� @A 	'#���% l�1�� ,-. 0�0J �8N 
� �H�W9���1N .( ]�96� � )'S��

 5% 	K����� ���0�� l�� �8N 
� `SQ `8��Q �N `(Q�$R12 = 0�  R12 = 150)  	������ ;8��ITU-R P.371 .( x�K��
 ���0��R12	9�1� 3����#�  150 	��= � foF2Y��N `#� �(� m�7d @A 	'#���%� ~1T . 

5.3  ������MUF ��
��� 56�67� F2 

1.5.3 N�7� �
'��� O��6/ 

1.1.5.3  ��>&� �P�� Q4�2�
 :(km) dmax 

 	'2��� $0Jn0T� {$X� 	'2��� \�( X  }����� ��6KdB� R��2�� ]�9K� �% 	� 0�. ����'�CB 3�1hr 	S1d 0�C )�7�� 
	������ 	�$�K�� 
� c#�� �G��� � l6U���: 

  500 km �N 176 km −=
2F)3000(M

4901
rh5�9�1�� �f�N -Q&2� 
 (2) 

 $$���� <#� 
\�( X� �-. �MUF 	1'S(� ` � X� F2 $$���� 3�?�N �.� 
MUF�  	1'S(� ` � XF2 
c#�� �8N 
� 
	������ 	�HK(� 3�1T�: 

 







−+⋅








−








+=

xam

Hd

d

df
B

C

C
Dn 1

2
2foF)1(1MUF)(2F

3000
0 (3) 



������� ITU-R  P.533-9 6 

��=: 
 fH:  
� R��2�� �8N 
� 
��d���6��� M���$ $$�2 	9��km 300 l6U��� m�1d 
� 	S1d �� 0�C $0� 


 ]�0i� � !$����� 	' ����1N( 

 Cd = 0.74 – 0.591 Z – 0.424 Z2 – 0.090 Z3 + 0.088 Z4 + 0.181 Z5 + 0.096 Z6 (4) 

  M�62�Z = 1 – 2d / dmax 

 dmax = 4 780 + (12 610 + 2 140 / x2 – 49 720 / x4 + 688 900 / x6)  (1 / B – 0.303) (5) 

 















+⋅+= 9635.1–

x

7.854
sin005.00215.0]4–]2F)3000(M[[124.0–2F)3000(M

2
B (6) 

��=: 
 = d D/n0� dmax������(�6��% �9h�C xK�  

 C3000:  	9�� `.Cd M�62 ��0�C km 3000 = D 
 = x foF2/foE �N 2 = x5�9�1�� x�N -Q&2� 
 

  <#JfoE !�1��� � $�� �9� 2.3. 
2.1.5.3  ��>&� �P�� Q4�2�
(km) dmax 

 $$���� -Q&�MUF {$X� 	'2��� \�( X ` � X� n
0
 F2(D)MUF ]�S% c#� �8N 
� D 5�9�1�� {$X 3����#� 

F2(dmax)MUF 	�$�K9(� 3�1T� (3)	'#���%  ]�0i� � 52$����� l6U��� PS1d @A 1N .( $$���� 3�?�N �. �-.�MUF 
c#9(� 	'#���% ` � X�. 

2.5.3  1���6/0� H�;7� �
'��� ) ��>&�Q4�2�
 : �P�� km 9 000( 

1.2.5.3  ��>&� �P�� Q4�2�
 :(km) dmax 

 $$���� <#�MUF 	1'S(� ` � X� F2 $0K% \�( N � n�g�1�� 
�  �B$�K�� 	S ��% �(3) @A (6) l6U��� 	S1d 0�C 
 ]�0i� � !$����� c#�� �G��� �1N ( �^�+ !g�1�D/n = d. 

2.2.5.3  ��>&� �P�� Q4�2�
(km) dmax 

 $$���� <#�MUF 	1'S(� ` � X� F2 $0K% \�( N � n 	�B0% 
��g�1�� 
� F2(dmax)MUF ��T�#9(� p��02 ���C� 
 q(C 09�K�	�6Z 	'2� {$N \�( N �� �K�� \�( X� � ��g�1�� ]�+. 

 
0

/MUF)(2FMUF)(2F nnmax MMdDn ⋅= (7) 

 _(s�#2 ��=Mn/Mn0 	�$�K�� 	S ��% (3)I���� �U��� q(C : 

 
MUF)(2F

MUF)(2F

00
Dn

dn

M

M

n

n = (8) 

 ]�0i� � l6U��� PS1d 0�C 5�%�#e� 5�9�1�� {$N q1��2�1N.( 
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6.3 �:�G�3:�: �
�TB�� 7� U�6��� ��B�*=><6�*�
 
 �����B� M�$ c#�� xC ��7�dB� lC0� ���� 
��a2 q(C ]�Gz� �B�9�=�% &'���� 3��T�� M�6� 0� �B�z� �K% �

>�$X� ��'(S��� /������ `*��^� _*�G� . ��$$���� |��� �B�9�=� 	T�K� 
� �0% B �B�z� ,-. �W� ��MUF $$��(� 
�% ]�9K�� . M�9#1�� /01��3.3 � 5.3 ��$$��(� 	S ���� l�1�� ,HCN MUF(50) 5�1'S�� � ��7�dB� � E� F2. 

 	1'S�� <��� a% )(K�� �9�TF2 ]�0i� `SK� 2 	������ 
� ITU-R P.1239 ��$$��(� 	��7C 	'#d {$N MUF 
P��  >���N �.|��� l��%90 �h7�� /��N 
� MUF(90) �=� MUF(50) D�E�  ��K�� ~Q� `(e� :����(� 3�K'2

`#97�� �(6��� �G����. 
 
��f7��� $$�2 �h�T M�6� P�� �B�z� � ��Nf 
� ��N 
MUF(50) � qSK2 }c� �d��X� ~� ��� �B�9�=� M T 


	������ 	�$�K��: 

 Fprob = 130 – (1 + MUF(50) · δl/f) or =100 ��N �9h�N  (9) 

 ]�0i� `SK��3���� 
�  	��ITU-R P.1239 	��7C 	'#d q(CN δu, ��$$��(� MUF >���N �.|��� l�� P�� %10 /��N 
� 
 �h7��MUF(10) �=� MUF(50)`#97�� �¡(¡6��� �G���� ��K�� ~Q� `(e� :����(� 3�K'2 D�E� 
. 

 
��f7��� $$�2 �h�T M�6� P�� �B�z� � ��Nf 
� �W�N 
MUF(50)~� ��� �B�9�=� M T 
	�$�K�� � qSK¢2 }c� �d��X� : 

  Fprob = (1 + f/MUF(50) · δu) or = 0�W�N �9h�N  (10) 

 	1'S�� <��� N � ��'�� }�7K�� Y09(� ��' ���� MH��K���E �£ 1,05� 0,95I����� q(C . 
 $$���� ;�|�2 q(C ]�Gz� 
6¤�MUF� ;�|���� )�'S�% �h7�� 
� 	��K� 	C�  � `(�f7���  !�1��� � $����6.3. 
 
�$$���� MN 	�=H��% ��08�MUF ]HQ �£|��� l�� 
�-(�� 5�(�f7��� %90� %10 �?Ta� M�$0U�� �h7�� /��N 
� 

I����� q(C �9�� $$�2 q(CN� ��f72 $$�2. 

7.3  �������� H@,/MUF>&�� H�; ����FB���  
 ��$$���� qG�N M�62MUF`. c#�� q(C 	�(�f7���  <��� X� � x�X� 	�(�f7��� ��$$���� F2 <��� X� �� E . ����2�
 
�$$���� 5% 	�HK��MUF 	�T��f8 ����'�C�� c#�� ]�+ q(C� ���*��^�� 	9�dX� _*�GQ q(C ` � X�� `(�f7��� 

�.cu� .!��0�� >�$X 	�(9C 	%�� @A 3�$��� � $0U�� MN `f'��� .�� ,-. �T��2 B ��0�C� ��$$���� qG�N }��#2 	%�r�MUF 
 <��� X� � 	�(�f7���F2 ��$$���� qG�N p2�d MUF 	9�1��� 	� � X� Rop ��= Rop ]�0i� � !$��� 1 	������ 
� 

ITU-R P.1240 <��� X� � ��N VE ��$$���� qG�N }��#�T MUF	� � X� �¥H�W� 	�(�f7��� . 
 ��$$���� qG�N ��01��MUF	�(�f7���  >���N �.|��� l�� P�� %10� %90 ��$$���� qG�N ~ ��� \�?% /��X� 
� 

 5��0i� � !$����� 	9*H�� ����K��% 	�(�f7���2� 3  	������ 
�ITU-R P.1239 <��� X� 	��= � 
F . <��� X� 	��= ��
 F �£ MH��K�� M�6�1,05� 0,95I����� q(C 
. 

4  H@,/���' ��
���� 12"�� E 8(fs) 

 	1'S��% <rz� � ���¢�E <��� X� � F2 �^�+ |��r�� B ��c#� @A 	'#���% km 9 000)  ]�0i� ��d�1\(( .
 	9�� �9K�#2�foE c#�� �G��� 	S1d 0�C ) �^�+ |��r�� B ��c#� @A 	'#���%km 2 000( 5�9�� q(CN �9K�#2 �N 


foE 	T�#� q(C l6U��� PS1d 0�C km 1 000 c#�� 
� ��+ �� 
� ) �^�+ |��r�� ��c#� @A 	'#���%km 2 000( 

<rU(� $$�2 qG�N \�#= � D�E�. 
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 fs = 1.05 foE sec i (11) 

��=: 

 








+

∆
=

r

F

hR

R
i

0

0 cos
arcsin (12) 

��=�: 
  i:  R��2�� 0�C $����� 	���|km 110 = hr 
 R0:  
��X� �S� �Gdkm 6 371 

 ∆F: �( X R��2�B� 	���| 	1'S�� \F2)  	�$�K�� 
� $0J(13).( 
 
 

i�� >g2 

 �! V�W U6�������� 7� �
><6�*�
 

5 �
><6�*�
7� �����  �! V�W U6��� 
�h7�� /��N �6� }�h7�� ~ ���� `. 	K����� ]��� !0� M�62 .c#�� ]�S� 3�K'2 >�g8N 	�H� 
� &'���� >��8A M�6���. 

1.5 �
4�QA�<'�:�  
K2 $$���� 
� q(CX� ��$$���� D�E � �� ��$$���� �� q(C )'S�2 P�� R��2�B� 	���| 	������ 	f�G�� `SMUF` � X� : 

 








+
=∆

00

0

0 2
cosec–

2
cotarctan

R

d

hR

R

R

d

r

 (13) 

��=: 
 d:  $0K% \�( N � !g�1�� ]�+n �� N q(C ��g�1�� 
� D/n = d 
 hr: ¦T�6�� }����� ��6KdB� R��2�� 

   <��� X� ��E  M�6�km 110 = hr 

   -Q&��hr <��� X� � F2!g�1�� ]�+� ;����� :���� 	�B0% . 
 }����� ��6KdB� R��2�� <#��hr <��� X� � F2��= 
I���� �U��� q(C : 

x = foF2/foE           �          316–
2F)3000(M

4901

M
H

∆+
= 

��=�: 

150

)25–(096,0

4,1–

18,0 12R

y
M +=∆ 
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� x = y �N 1,8x�N �9h�N . 
 N(  �8N 
�3,33 < x� 1 ≤ f/foF2 = xr ��= 
f	8��� $$�2 �. : 

 h = hr �N km 800�f�N �9h�N 
 (14) 
��=: 

 h  =   A1 + B1 2,4–a  �8N 
�B1� a ≥ 0  
 h  =  A1 + B1  D�E �HQ 

 ��=�  A1 = 140 + (H – 47) E1 
 B1 = 150 + (H – 17) F1 – A1 

E1 = –0,09707 
3
rx  + 0,6870 

2
rx  – 0,7506 xr + 0,6 

  	9�� $0J�F1M�62 ��§ : 
 xr ≤ 1,71 �8N 
� F1 = –1,862 

4
rx  + 12,95 

3
rx  – 32,03 

2
rx  + 33,50 xr – 10,91 

 xr > 1,71 �8N 
� F1 = 1,21 + 0,2 xr 
 cf�2� a 	T�#�� cf�% d `Ss��� 	T�#�� dsI���� �U��� q(C : 

 a = (d – ds) / (H + 140) 
 ��=: ds = 160 + (H + 43) G 

 xr ≤ 3,7 �8N 
� G = –2,102 
4
rx  + 19,50 

3
rx  – 63,15 

2
rx  + 90,47 xr – 44,73 

 xr > 3,7 �8N 
� G = 19,25 
\(  �8N 
�3,33 < x� 1 > = xr: 

 h = hr �N km 800�f�N �9h�N 
 (15) 
��=: 

 h = A2 + B2 b       �8N 
�B2 ≥ 0 

 h = A2 + B2        D�E �HQ 
 ��=� A2 = 151 + (H – 47) E2 

 B2 = 141 + (H – 24) F2 – A2 
 E2 = 0,1906 Z 2 + 0,00583 Z + 0,1936 
 F2 = 0,645 Z 

2 + 0,883 Z + 0,162 
 ��=: xr = Z �N 0,1 cf�2 �9� 
x�N �9h�N 
b 	#��1�� 	T�#�� cf�% df� Z� HI���� �U��� q(C : 

b = –7,535 
4
fd  + 15,75 

3
fd  – 8,834 

2
fd  – 0,378 df + 1 

 ��=: 
( )140

115.0

+
=

HZ

d
df�N  0,65 
�f�N �9h�N 

 y(  �8N 
�3,33 ≥ x: 
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 hr = 115 + H J  +  U d �N km 800�f�N �9h�N 
 (16) 
 ��= J = – 0,7126 y3 + 5,863 y2 – 16,13 y + 16.07 
 � U = 8 × 10–5 (H – 80) (1 + 11 y–2,2) + 1,2 × 10–3 H y–3,6 

 �^�+ |��r�� B P�� ��c#�� 	��= ��(km) dmax 	9�� �012 
hr ]�+X� ��c#�� 	��= � $0�� c#�� �G��� 	S1d 0�C 
 ]�0i� � 	��'�� l6U��� m�1d �� 0�C1y(	S ���� 	9�1�� �9K�#2� 
. 

2.5  �P�� Q4�2�
 : ����&�km 7 000 

1.2.5 1���67�V�G����  

 <��� X� 
� $0C q1���E 	�H� @A �G2 ) @A �^�+ �G� ��c#�km 4 000 ( $0C� <��� X� 
�F2 `�� 	�  @A �G2 
	������ c��K�� ;�9i �h�� ��: 

− }����� ��6KdB� R��2��: 
j  <��� ¨�E R��2�B� 
hr  =km 110 

j  <��� ¨�F2 R��2�B� 
hr  	�$�K�� � $0e� (2) �01� ��=M (3 000) F2 c#�� �G��� 0�C ) ]��+X
@A �G2 ��c#� dmax (km) (1d 0�C �N ]�0i� � 	��'� l6J 	S1y ( -Qa2 ��=F2  	9�� {$N ) ]��+X

 5% b����2 ��c#�dmax � (km 9 000. 
−  <��� X�E j @A �^�+ �G� !g�� ;� {$X� 	'2��� \�( N km 2 000 q(CX� 5�'2��� 
� 5%�( X� 0=N� 

V!���'� 
−  <��� X�F2 j�^�+ �G� !g�� ;� {$X� 	'2��� \�( N  @A dmax (km) q(CX� �9�� <2��� <��� N 0=N� 

 	1'S�� � <r= $$�2 qG�N �01� ��= !���'�E !�1��� � ���� $����� �U��� q(C 4 $$�2 
� ��N �.� 
��f7���. 

2.2.5  �X� V�W �
�- 

 \�( N �6� ]��� !0� ~ ��� 	������ 	�HK�� `SK2w !�1��� � ���-� 1.2.5: 
 Etw  =  136.6  +  Pt  +  Gt +  20 log f  –  Lt            dB(1 µV/m) (17) 

��=: 
 f:  ]� ��� $$�2(MHz) 
 Pt:  � ��� !�0�(dB(1 kW)) 

 :Gt  R��2�B� 	���|� :9#�� 	���| � ]� ��� `*��. <#�(∆) ©b���� `*��. @A 3	'#d 5�%�(S�� (dB) 

 Lt:  ]� ��� !��#Q ` � X��K7�� c#� q(C`(� �9� �K�� \�( ¨� R: 
 Lt  =  32.45  +  20 log f  +  20 log p′  +  Li  +  Lm  +  Lg  +  Lh  +  Lz (18) 

 ��=�: 
 p′:  	�����TB� 	(*��� 	T�#��(km) 
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 ( )
( )[ ]∑ 









+∆
=′

n

Rd

Rd
Rp

1 0

0
0

2/cos

2/sin
2 (19) 

 Li:  ��G��B� <'#% !��#��(dB) $0K% \�( N � n�� 	�HK�� 
� <#J ��g�1�� 
� 	����: 

 ( )

( )
∑
=









ϕ⋅

χ

χ
⋅⋅

+

⋅+
=

k

j

v
n

jnoon

j
noon

L

i
f

F

F
AT

kff

iRn
L

1
2

12

foE)(

)(1sec0.00671 (20) 

 ��=: 

 F(χ )  =  cos p (0,881 χ ) �N 0,02x�N �9h�N 
 (21) 
 ��=�: 

 fv = f cos i (22) 

 �: 
 i:  0�C $����� 	���|km 110 
 k:  l6U��� m�1d $0C) ]�0i� 
�1$(( 
 fL: ��X� ]�� 	���S�� 	d�69(� 
��d���6��� M���$ ��$$�2 l�� ~ ��� R��2�� @A 	'#���% `#�S�f�� 

km 100 ]�0i� � !$����� l6U��� m�1d 0�C $0� 
1$( 
 χj:  	'2��� 
� l6U��� 	S1d 0�C `#97�� :9#�� 	���|j �N °102�f�N �9h�N  . ,-. \�#= � y�02�

�K�� �h7�� �G��� � :���� 	�$�K� 	9(K�� 
 χjnoon:  	9��χj`(e� :������ <#= 3��h�  
 ATnoon: �8N 
� `(e� :������ <#= 3��h� ��G��B� ���C :0 = R12 �h7��� ���fi� ��K�� ~Q 	�B0% 

 �67�� 
� -Q&�1 

 
foE









ϕ v

n
f:  ` N��� $���(� ¦T�6�� 	8��� $$�2 	'#d 	�B0% 	1'S�� ����Q� @A 0*�K�� ��G��B� ���Cfv @A 

foE �67�� 
� -Q&� 
2 

 p:  �N ]0K�� ���� 	�B0% }��h��� ��G��B� `#�S�f��) )U(�� ;8��1 	������% ITU-R P.1239 (
 �67�� 
� -Q&� 
�h7�� 	�B0%�3. 

 $$���� 
� q(CX� ��$$���� @A 	'#���% ��NMUF MN ����T� q(C <#�� $$���� cf�% ��G��B� cf2 �9�#�T 
` � X� 
�� ��c#� ��d `. 	K�X� ��c#� $$��MUF` � X� . 

 Lm:  !��#��" $$���� ��TMUF." 
  $$�2 @A 	'#���%f $$��(� ��#� MUF ` � X� ( fb)��� {$N �N 5K�� \�( X� � : 

 Lm = 0 (23) 
  <��� X� @A 	'#���%�EM�62 ��0�C  :f > fb: 

 ( )[ ] dB1–/130
2

bm ffL = (24) 
  �NdB 81�f�N �9h�N . 
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  X� @A 	'#���%� <���F2 M�62 ��0�C f > fb: 

 ( )[ ] dB1–/36
2/1

bm ffL = (25) 
  �NdB 62�f�N �9h�N . 
 Lg: 	S ���� ��6KdB� m�1d 0�C ��X� q(C ��6KdB� <'#% �*�#�� R�9w: 
   $0K% \�( N `�Tn��g�1�� 
� : 

 Lg = 2(n – 1)            dB (26) 

 Lh: 1�7�� !��#�� !�C��� �9#� }-�� ���K�� ]�0i� � �h��A ��7�� Y�QX� ������� !��#Q� 	�2 .
 `��X� `#�S�f�� ��K�� ~Q 	�B0% 	9�� �� �012�Gn) �%��8 �N >��� B� ~Q ]�� ( :�����

 `(e�t `.���% ��X� q(C g��Z \�S�N `*��W� N°78,5) 3B�� (�W°68,2) 3�%�u :( l�1�� -Q&2�
i� 
� l6U��� m�1�� 	S ���� ]�01$.( 

   @A ���� �h�N ]�0�CB�� ���xT @A x9#�$ �h�N 	���X� !�6�� 
� I�97�� �G��� � >��7�� �%�1�
�S#uN @A ��d�� �h�N ��G��� x9T�d @A x9�' � ���� . �h�N ]$�'��T o��i� !�6�� �Gd � ��N

��G��� >��7��. 
   M�62 ��0�C°42,5 > Gn M�62 dB 0 = Lh. 
 Lz: 	1��S�� ,-. � 	8�0�� cu 	�c� �d��X� 	8���% ��7�dB� ��c�a2 
9?�2 !��'C . 	���z� 	9�1���

 `. �[ q����dB 9,9)  !�1���  ;8��2.5.( 
 �Y3Z�1j  	9�� MN 	�=H� �0«Lz  	9�1(� 	K8��� `C0�#� ����K�� ,-. � c�f2 }N MN }N 
&'���� 	1��+ ����K% 	S'2��Lz. 
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7�� �61 
 8?�@��:� .��;A Tnoon 

 
 �67��2 

?�@��:� .��; ��
��� [���M� \] �L����  ϕϕϕϕn 

0533-02fv
foE

ϕ
n

f v fo
E

0
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0.4

0.6

0.8

0
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1.4

1.6

1.8

2.0

1.

0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.2

 

70-90 

I�97�� !�6�� �Gd � �h�X� 
o��i� !�6�� �Gd � �h�X� 
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 �
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 �67��3 

 =��T��� ?�@��:� 9/p 

 

 	1'S�� �h'rJ P�� <��� X� 
C ����� ��G%E -Q&2 
e�� 	9�1�� ~ ��� 	���L�� 	(G 	8��� ]�w !07� 	�T�6�
 	�c� �d��X�Ets $0K� �B��� R�9� ;�%���� �-8 �.��'�C�% 
N ���¬ ��= <��� X� 
� N5%�( X� �97� �­ q(C   

F2� E}N 
�9®a7% &'���� ¯ 
�-(�� : 

 dB(1 µV/m)             ∑
=

=
N

w

E
ts

twE

1

10/
10 10log10 (27) 

 
�dX� >�$a% &'����% )(K�� �9�T� �6% 	���� }c� �d��X� ]��� !07� 	�T�6�� 	S ���� 	9�1�� qC��2 
3��9�� 	(67�� 	9

 !�1��� ��d� 
\�( N2.10. 
 

0533-03

70-90
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 ]0
K�� 
`#

�S�
f�� 
���
�

)
��
8�
0��
%

(

I�97�� !�6�� �Gd � �h�X� 
o��i� !�6�� �Gd � �h�X� 



������� ITU-R  P.533-9 15 

 ]�0i�*
2 

 (�,Lh ^�M7� V��W_� ����&M4 ���<B�� V��&`� H�;  �' (dB) 

 N  ( 
� ��N ]� ��� ���0�km 2 500�^ 	���#� �N   

 ��� 0�C `(e� :������ 
c#�� �Gt  

 
01 ≤ t < 04 04 ≤ t < 07 07 ≤ t < 10 10 ≤ t < 13 13 ≤ t < 16 16 ≤ t < 19 19 ≤ t < 22 22 ≤ t < 01  

Gn          

77.5° ≤ Gn 2.0 6.6 6.2 1.5 0.5 1.4 1.5 1.0 

72.5° ≤ Gn < 77.5° 3.4 8.3 8.6 0.9 0.5 2.5 3.0 3.0 

67.5° ≤ Gn < 72.5° 6.2 15.6 12.8 2.3 1.5 4.6 7.0 5.0 

62.5° ≤ Gn < 67.5° 7.0 16.0 14.0 3.6 2.0 6.8 9.8 6.6 

57.5° ≤ Gn < 62.5° 2.0 4.5 6.6 1.4 0.8 2.7 3.0 2.0 

52.5° ≤ Gn < 57.5° 1.3 1.0 3.2 0.3 0.4 1.8 2.3 0.9 

47.5° ≤ Gn < 52.5° 0.9 0.6 2.2 0.2 0.2 1.2 1.5 0.6 

42.5° ≤ Gn < 47.5° 0.4 0.3 1.1 0.1 0.1 0.6 0.7 0.3 

>��7
��

 

77.5° ≤ Gn 1.4 2.5 7.4 3.8 1.0 2.4 2.4 3.3 

72.5° ≤ Gn < 77.5° 3.3 11.0 11.6 5.1 2.6 4.0 6.0 7.0 

67.5° ≤ Gn < 72.5° 6.5 12.0 21.4 8.5 4.8 6.0 10.0 13.7 

62.5° ≤ Gn < 67.5° 6.7 11.2 17.0 9.0 7.2 9.0 10.9 15.0 

57.5° ≤ Gn < 62.5° 2.4 4.4 7.5 5.0 2.6 4.8 5.5 6.1 

52.5° ≤ Gn < 57.5° 1.7 2.0 5.0 3.0 2.2 4.0 3.0 4.0 

47.5° ≤ Gn < 52.5° 1.1 1.3 3.3 2.0 1.4 2.6 2.0 2.6 

42.5° ≤ Gn < 47.5° 0.5 0.6 1.6 1.0 0.7 1.3 1.0 1.3 

]�0
�CB

�
 

77.5° ≤ Gn 2.2 2.7 1.2 2.3 2.2 3.8 4.2 3.8 

72.5° ≤ Gn < 77.5° 2.4 3.0 2.8 3.0 2.7 4.2 4.8 4.5 

67.5° ≤ Gn < 72.5° 4.9 4.2 6.2 4.5 3.8 5.4 7.7 7.2 

62.5° ≤ Gn < 67.5° 6.5 4.8 9.0 6.0 4.8 9.1 9.5 8.9 

57.5° ≤ Gn < 62.5° 3.2 2.7 4.0 3.0 3.0 6.5 6.7 5.0 

52.5° ≤ Gn < 57.5° 2.5 1.8 2.4 2.3 2.6 5.0 4.6 4.0 

47.5° ≤ Gn < 52.5° 1.6 1.2 1.6 1.5 1.7 3.3 3.1 2.6 

42.5° ≤ Gn < 47.5° 0.8 0.6 0.8 0.7 0.8 1.6 1.5 1.3 

��
G�
�

 
* �Y3Z�: 59��� @A ��#��� 
� ]�0i� �-. N�1¢� . 
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 ]�0i�2 ) 	9�2(* 
 \ ( 
� x�N ]� ��� ���0�km 2 500  

 �� 0�C `(e� :������ 
c#�� �G�t  

 01 ≤ t < 04 04 ≤ t < 07 07 ≤ t < 10 10 ≤ t < 13 13 ≤ t < 16 16 ≤ t < 19 19 ≤ t < 22 22 ≤ t < 01  

Gn         
 

77.5° ≤ Gn 1.5 2.7 2.5 0.8 0.0 0.9 0.8 1.6 

72.5° ≤ Gn < 77.5° 2.5 4.5 4.3 0.8 0.3 1.6 2.0 4.8 

67.5° ≤ Gn < 72.5° 5.5 5.0 7.0 1.9 0.5 3.0 4.5 9.6 

62.5° ≤ Gn < 67.5° 5.3 7.0 5.9 2.0 0.7 4.0 4.5 10.0 

57.5° ≤ Gn < 62.5° 1.6 2.4 2.7 0.6 0.4 1.7 1.8 3.5 

52.5° ≤ Gn < 57.5° 0.9 1.0 1.3 0.1 0.1 1.0 1.5 1.4 

47.5° ≤ Gn < 52.5° 0.6 0.6 0.8 0.1 0.1 0.6 1.0 0.5 

42.5° ≤ Gn < 47.5° 0.3 0.3 0.4 0.0 0.0 0.3 0.5 0.4 

>��7
��

 

77.5° ≤ Gn 1.0 1.2 2.7 3.0 0.6 2.0 2.3 1.6 

72.5° ≤ Gn < 77.5° 1.8 2.9 4.1 5.7 1.5 3.2 5.6 3.6 

67.5° ≤ Gn < 72.5° 3.7 5.6 7.7 8.1 3.5 5.0 9.5 7.3 

62.5° ≤ Gn < 67.5° 3.9 5.2 7.6 9.0 5.0 7.5 10.0 7.9 

57.5° ≤ Gn < 62.5° 1.4 2.0 3.2 3.8 1.8 4.0 5.4 3.4 

52.5° ≤ Gn < 57.5° 0.9 0.9 1.8 2.0 1.3 3.1 2.7 2.0 

47.5° ≤ Gn < 52.5° 0.6 0.6 1.2 1.3 0.8 2.0 1.8 1.3 

42.5° ≤ Gn < 47.5° 0.3 0.3 0.6 0.6 0.4 1.0 0.9 0.6 

]�0
�CB

�
 

77.5° ≤ Gn 1.9 3.8 2.2 1.1 2.1 1.2 2.3 2.4 

72.5° ≤ Gn < 77.5° 1.9 4.6 2.9 1.3 2.2 1.3 2.8 2.7 

67.5° ≤ Gn < 72.5° 4.4 6.3 5.9 1.9 3.3 1.7 4.4 4.5 

62.5° ≤ Gn < 67.5° 5.5 8.5 7.6 2.6 4.2 3.2 5.5 5.7 

57.5° ≤ Gn < 62.5° 2.8 3.8 3.7 1.4 2.7 1.6 4.5 3.2 

52.5° ≤ Gn < 57.5° 2.2 2.4 2.2 1.0 2.2 1.2 4.4 2.5 

47.5° ≤ Gn < 52.5° 1.4 1.6 1.4 0.6 1.4 0.8 2.9 1.6 

42.5° ≤ Gn < 47.5° 0.7 0.8 0.7 0.3 0.7 0.4 1.4 0.8 

��
G�
�

 

* �Y3Z�:  59��� @A ��#��� 
� ]�0i� �-. N�1¢�. 
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3.5  ��>&� �P�� Q4�2�
km 9 000 
N $0C @A c#�� l#1� Ma% 	1��S�� ,-. � ��&'���� l�2 
{$n �h�� }N ]�+ |��r�� B ]�S�� 	���#�� ��g�1�� 
� 


km 4 000. 
 ]��� !0� ~ ��� 	(G� <#JEtl: 

( )

( ) ( )

( )

( )

( )

( ) 

























+

+
+

+

+

+++

+
=

2

2

2

2

22

2

0 –1

HM

H

H

HL

HLHM

HM
tl

ff

ff

ff

ff

ffff

ff
EE 

 – 36.4 + Pt + Gtl + Gap – Ly            dB(1 µV/m) (28) 

 M�62�E0 	K7� !�0� �8N 
� �z� >�?��� � ]��� !0� `. e.i.r.p. 	9�1% MW 3�� 
	��z� ,-. : 

 E0 = 139.6 – 20 log p′            dB(1 µV/m) (29) 

  <#� ��=p' 5��$�K�� 	S ��% (19)� (13) �� N q(C km 300 = hr. 
Gtl:  R��2�B� Y0� � \�(S�� :9#�� 0�C ]� ��� `*��. <#6� 	9�� q(CN°0 @A (dB)°8 

Gap: �� 0�C c�'��� <'#% ]��� !0� � !$��g��	������ 	�HK�� <#= 
	(��S�� ��T�#: 

 dB
)/(sin

log10
00 RDR

D
Gap = (30) 

  :d�� ���Gap M�62 ��0�C 	��® B �� @A ��4 ,HCN 	�HK�� � D ���C�?� 
� π R0 	9�1% $0J �® T 
dB 15. 
Ly:  /�h�� 	(��Z !��'CLz `. �[ q���� 	���z� 	9�1��� dB 3,7–. 

 �Y3Z� j@A ��7�  	9�1�� MN Ly 	9�1(� 	K8��� ����K�� ,-. � ��0K2 }N M��1� MN <« ± 
�� 
&'���� 	1��+ ����K% )(K�2 Ly. 
fH:  ]�0i� � !$����� l6U��� m�1d 0�C $0� }-�� ��d���6��� M���$ $$�2 l�� ~ ���1N( 
fM: }�(K�� `K8��� $$���� .$����� l6U��� PS1�� �G��� �67% $0� �.� ]�0i� � 521N ( 	9�1�� _(s�#2�

{$X� 
�: 

 fM = K · fg            MHz (31) 

 
2

,

,
3

,

,

1–2.1











+














++=

noong

ming

g

noong

noong

g

f

f
Y

f

f
X

f

f
WK (32) 

 fg: F2(4000)MUF = 1,1 F2(3000)MUF 
 fg,noon:  	9��fg3��(� ��h��� �G��� 	(%�1� 	C�  �  
 fg,min:  	9�� {$Nfg ]HQ �0J 24	C�  . 

 ]�0i� `SK��3 l�� W �X� Y . ,-. �9K�#2� c#�� ���� �G��� 0�C q9�K�� !�*�0�� c#� :² $0��
 ��� l�1�� 5% 	���g(� `S�� `(Q�0�� ]�96� B� � 	���g��j ]�� l�1��� \�u j\��8 . 
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 ]�0i�3 
 (�,W4 X4 Y a�"@��� .��; �
�"�� ��G��&�� K 

 W X Y 

���j\�u 0,1 1,2 0,6 

]��j\��8 0,2 0,2 0,4 

fL: {$N `K8�� $$�2: 

 
( )

MHz
109.5

logcos

cos0.0091

5.3

1/2

6

e90

2

1

5.0
12

wH

n

L Af

p
i

R

If ⋅

























−



































′

×

χ+

×

∑
 (33) 

  ��=R12	K�2��� l�1(� 	'#���% ;'7�� B . 
  $0�χ R��2�� 0�C R�K7�� c#� ��'C �� @A 	'#���% R�9�� � km 90 . M�6� ��0�C�χ < °90 x�K� 
cos

0,5χ 
��G(� 3����#�. 

 i90:  R��2�� 0�C $����� 	���|km 90 
 I  :  ]�0i� � qSK�4. 

 ]�0i�4 
 (�,I������ ���`� ������� b ��G��&��  �fL 

��c��Fd� e���� )��M �TB�� 

���S�� 
]�X� 

���S�� 
�Q³� 

J F M A M J J A S O N D 

> 35° N > 35° N 1,1 1,05 1 1 1 1 1 1 1 1 1,05 1,1 

> 35° N 35° N-35° S 1,05 1,02 1 1 1 1 1 1 1 1 1,02 1,05 

> 35° N > 35° S 1,05 1,02 1 1 1,02 1,05 1,05 1,02 1 1 1,02 1,05 

35° N-35° S 35° N-35° S 1 1 1 1 1 1 1 1 1 1 1 1 

35° N-35° S > 35° S 1 1 1 1 1,02 1,05 1,05 1,02 1 1 1 1 

> 35° S > 35° S 1 1 1 1 1,05 1,1 1,1 1,05 1 1 1 1 

* �Y3Z�:  ]�0i� �-. N�1¢�59��� @A ��#��� 
�. 

 Aw:  }��#�� 
c#�� �G��� 	S1d 0�C $0� >��7�� � E�-7�� ���C1 
� 	�T��fi� ��K�� m�SQ � °0 
@A °30 0�C� °90 ]�0i� � !���-�� Y�G1�� l�1�� @A �G�� 
5 0�C °60 . 0�C l�1�� _(s�#2�

`S�� `(Q�0�� ]�96� B� 	S ��% 	S ���� ��K�� m�SQ. 
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 ]�0i�5 
 ���B�� b f4gB�� .��; (�,Aw b��Fd� e���� UM ��; °60 

 ������� ���`� ������� b .G��&��fL 

��h�7� V���� E@* �TB�� 

 J F M A M J J A S O N D 

I�97�� 1,30 1,15 1,03 1 1 1 1 1 1 1,03 1,15 1,30 

o��i� 1 1 1 1,03 1,15 1,30 1,30 1,15 1,03 1 1 1 

 l�� <#JfL `(e� :������ �= 	C�  �� � tr M�6� ��0�C fL ≤ 2fLN 
��=: 

 MHz
3000

D
fLN = (34) 

 <#��fL	������ 	f�G(� 3�1T� 	������ �HW�� ��C�#�� ]HQ : 
 fL = 2 fLN e

–0,23t (35) 

 ��=t 	�U(�� 0K% ��C�#�� $0C �. tr . M T 	1=H�� ��C�#�� @A 	'#���% ��NfLN = fL  	�$�K�� ��T `SK2 }-�� :���� @A 
(33)q(CN 	9�� . 

4.5  i� ��>&�7 0004 km 9 000 
 	�c� �d��X� 	8��� ]�w !0� ~ ��� $0U��Eti l�1�� 5% `(Q�0�� ]�96� B� ]HQ 
� ��T�#�� 
� Y0�� �-. � Es 

�El . ��=Es 	�$�K�� 
� ]��� !07� ;�%���� �-8 �. (27) . @A c72�El 	�$�K�� � �9� <��� \�( N (28). 
 Ei = 100 log10 Xi            dB(1 µV/m) (36) 

�� N q(C 

)–(
0002

0007–
slsi XX

D
XX += 

��=: Xs  =  100.01Ets 
� Xl  =  100.01Etl 

 $$���� }��#��MUF l�� �f�N c#9(� ` � X� F2(dmax)MUF 	�$�K�� <#= (3)� l6U��� PS1d �8N 
�  �9h��A ��7�
 ]�0i� �1N.( 

6 .
��&�� ��; V�&���� ��6���� V����� 
 �= ��T�#�� Y0� @A 	'#���%km 7 000 !�1��� � !���-�� 	1��S�� 	S ��% ]��� !0� <#J ��= 2.5 �8N 
� 

 \�( Nw��T 	�c� �d��X� 	8��� ]�w !0� M�62 5K� Ew  (dB(1 µV/m)) $$���� 0�C (MHz) f !����� !�0� $0J 

 !�#���� 	(%�1��(dBW) Prw �'#� }��#� !��#Q H% ]�'1� � `*��. 0�C Grw) dB`=����� `*��^� @A 	'#���%  ( ,��� �

I���� �U��� q(C !����� $���: 
 Prw = Ew + Grw – 20 log10 f – 107,2            dBW (37) 
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#���� 	����� !�01�� ~ ��� qSK�� !�(dBW) Pr 
� �� /�h A )(K��� 
<��� X� �(�´ 
C !�$�G�� ���01�� ;L ]HQ 
� 
\�( X� �-. $��� ,��� � ]�'1� B� `*��. <#6% <��� X� ,-. . $0K�� @A 	'#���%�NR�9�� � 	£�#�� <��� X� 
� : 

 dBW10log10

1

10/
10 ∑

=

=
N

w

P
r

rwP (38) 

 ���2 ��T�#� @A 	'#���% ��Nkm 9 000!�1��� � !���-�� 	1��S�� 	S ��% ]��� !0� <#J ��= 
3.5 ]��� !0� M T 

 	�����El	'���� <��� X� 	(G� �%�12  . $0��Pr 	�$�K�� 	S ��% 	��z� ,-. � (37) ��= Grw <#6� 	9�� x�N `. 

 5% R��2�B� Y0� � \�(S�� :9#�� 0�C ]�'1� B� `*��.°0 @A °8. 
0J� ~ ���� Y0�� � 
!�01�� $7 000 @A km 9 000 	�$�K�� 
� (36) P9�1� 5�(%�1�� 52�01�� 	S ��% Es� El. 
 
 

 >g�i�3 

j�Y��� ����� 	
���� 

7 ��h�k�� \] V��W_� �
&�� =�TB�� U6���� (S/N) 

 	������ `SK2ITU-R P.372]�'1� B� 0�C 	��i� >���?�� !�0� ~ ��� 3�9��  <S1�� }$�=N cG� ` N� `*��. q(C 
H% 	�d�6�� >���?��� 	�C��S�B� >���?�� !0� l�� 3�?�N `SK2� 
3���4 	(��� ��N ��T !��#Q . MA�(dB(kTb)) Fa �. 

 $$���� 0�C 	����� 	�8���� >���?�� ���C(MHz) f ��=  K  	�K8��� !���z� 	8�$� 
M��g���% 	�%�� `.T ��01� K 288 .
 	9�1�� ,-. 
C p2���� >���?�� ���C �(�¬ 01T �Q� `(9C ]�'1� � `*��. 
3���9C 
�9K�#� ��0�KTFa . MN �� 
6��

 	9�1�� )�'S2 ����� MN < ���� 
� M�6� 01T 
!�T��� cu 	�(�´ ���*��. � >���?�� 
C 	(��� ���� ���SK�Fa � 	����
 	������ �ITU-R P.372I�N ��01�� .��  >���?�� @A !����� 	'#�� }�h7�� ~ ���� M T ± 
(dB) S/N �Q�$ 	11e� 
 ��Sd ��C(Hz) b�. : 

 S/N = Pr – Fa – 10 log10 b + 204 (39) 
��=: 

 Pr :  !�1��� � !$0e�� �µ'1�#�� � !��#���� 	S ���� !�01�� `.6,HCN . 

8 &�� V��W_� V��,4 =><6�*�
7�  �X� V�W �
�l� 1&* .�/ 0� ��h�k�� \] V��W_� 1&*4 ��
��
m,��� 0� ^�M/ 

>���?�� @A !����� 	'#d� 	('1�#�� !����� !�0�� }c� �d��X� ]��� !0� 0�0J 
6¤ (S/N) !$0� 	���� 	'#d �8N 
� 
�Q� @A /�� 
�� !0=�� 	C�  ]HQ >���?��� !����� ��T��­� 	�B0% :���� 
�.  �� $�9�C� 
6¤ Y�QN ���SK� \��u

 �4&�� �.��'2 P�� <#��� `. !����� �'� �[ b�9#�� <#���WARC HFBC-87 ��(K�� 	��7K(� �8X� cG� ���­� ;� 
 	9�1%dB 5 	9�1% ��d0�� 	��7K(� ���­�� dB 8 . 	�B0% 	��7K�� ��T��­� -Q&�T �8X� ���+ !����� �'Q @A 	'#���% ��N
'#d $$���� @A ��f7��� $$�2 	MUF ]�0i� � ���A ��7�� ` � X� 2 	������ 
� ITU-R P.842. 
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	������ 
� �Q� @A /�� 
� cf��� �h''#� P�� >���?�� !�01� 	��7K�� ��T��­B� -Q&�T 	��i� >���?�� 	��= � ��N 
ITU-R P.372 .HQ � cf�(� �[ �9#� 	'#d 	�N 3����= )'S2 B�!0=���� 	C�#�� ] . >���?(� 	��7K�� ��T��­B� -Q&2�

 	������ � 	��7K�� ��T��­H� $0e� �U��� q(C ��g�� ���f��� 
C !���'�� ����(K�� \��u � 	�C��S�B� 
ITU-R P.372M��g��� M�6�� � cf��� �B�9�=� 
� 	'����% 3��G= )(K�2 �®N 
� lu��� q(C  .cf��� x�K2� 	9�1(� 	'���� ��

 	9�1� 	���#� �Q� @A /�� 
�� !0=���� 	C�#�� ]HQ 	����� >���?(� 	��7K��dB 2±. 
 >���N �.|��� l�� P�� >���?�� @A !����� 	'#d `SK2%90	�$�K�� � :���� 
� : 

 ( )222
5090 –// ddddwh NSSNSNS ++=

 
(40)

 

��=: 
 Swh:  !����� }�7C ���­� {$N	%�(S�� �~ �� c�f2 
9� p2����� !0=���� 	C�#�� � ]��� !0� 

	C�#�� (dB) 

 Sdd:  !����� }�7C ���­� {$N	%�(S�� !0� ~ ��� ]��� ��c�f��� 
9� p2����� �h7�� � 
	������ (dB) 

 Ndd:  }�7C ���­� q(CN>���?(�c�f��� 
� p2���� 0=���� �h7�� � ]��� !0� ~ ��� 	��(��  ��
	������ (dB) 

 	������ � $����� }$�K�� `9����u�(�� ;�|���� ����(K� 
� Y�QN 	���� <#�� ���­B� l�� q(C ]�Gz� 
6¤� 
ITU-R P.1057. 

9  .G��&� ���' N�/(LUF) 
 �9K�#� $$�2 {$N ���K�(LUF) 	������ � ITU-R P.373 .2 {$N �dN q(C ���K�(� 3�1T� $$���� �-. �01�� @A 3��01� 
$$�

 \��NMHz 0,1 @A !����� 	'#�� }�h7�� ~ ��9(� 	���#�� 	%�(S�� >���?�� @A !����� 	'#d q(C ]�Gz� ,0�C 
6¤ 

>���?��. 

10  ��6�67� V����� �
��G�;�(BCR) 

1.10 ���n�G��� ���B�� �GY*7� �
��G�;� 
 	�$�9�CB� ���K2BCR 	������ � ITU-R P.842= 
 !$0e� >�$X� c��K� )�1J ]�9�=� `. 	�$�9�CB� ��) 	'#d }N

!$0e� >���?�� @A !�����(. ��cf��� p�02 P�� >���?�� @A !����� <#d �� N q(C �012 	�(��9��� 	9�dX� 	��= �� 
�Q� @A /�� 
�� !0=���� 	C�#�� ]HQ 	��(�� >���?��� !����� ]�w !07� 	��7K�� .� 	9�1�� ]�= ;�|���� ��� $��

 !�1��� � 	S ����8  	������ �ITU-R P.842 . 

2.10 ��o
��&�� V��Wp� ������4 m,��� �
�q V�;��� +� r��G,� ���B�� �GY*7� �
��G�;� 
 	�$�9�CB�� 	����� 	'#��� `. 
$$����� :��(� ;����� 0�09���% )(K�� �9�T 	'(G�� ��67��� 	9�dN � �.>���N ;���� P�� :���� 


!�1��� � $����� >��8�� /�0s� �% 	%�(S�� >���?�� @A !����� 	'#d q(C ]�Gz� 8.  
3��9�� 	(67�� 	9�dX� � 	(¶'1�#�� !����� $$����� :���� 0�04 !�C��� 3���9C `f'���. 
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1.2.10 j�Y��� ��G��� 

� �1��� 	����� ~�#'�� ��W9��� /0s�#�!��1��  .��9(K� ;%�N q(C 	��K�� ��67��� 	1��S% )(K�� �9�T 	�$�9�CB� ��012 /�1��: 
  
	%�(S�� >���?�� @A !����� 	'#dS/Nr : >���?�� @A 	C�#�� � !����� <��� N ~ ��� !�0� R�9w 	'#d

 $0e� >�$X� )�1U�� 	%�(S��d 
9� !����� <��� a% ~�J P�� ������ � $$����� :���� ·-T�Tw� Fw. 
  
R�#�2B� 	'#dA : � ��� !�0� !�C��� ;� 
��7�d� \�( N �6� ]��� !07� 	C�#�� � 	S ���� 	9�1��% &'���� l��

\�( X� D�E � `*��^� <#�� . 
R�#2B� 	'#d M�62� 	C�#�� D(2 � !0� �W�X� \�( X� $0U���A `. 

�� \�( X� ]�w !0� 	'#d cQa2 ;� :1T��2 �� �EA /����� >�$N q(C ��&2 0� P��� 

9�h�� \�( X� @A `C��

 ���� ��7�d�Tw 
� q(CN $$�2 0�04� Fw. 
:���� !-T�d Tw : ,|��� k0� }-��� /����� >�$N )�1J q(C !����� <��� N ��9� �9K2 }-�� ��g�� ������ `.�
>�$X� �-. 
�. 
 $$���� !-T�dFw :� ,|��� 0� }-��� /����� >�$N )�1J q(C ��9� !����� <��� N �9K2 }-�� $$���� ���T `.
>�$X� �-. 
�. 

2.2.10 ��B�*:� m,4 

	������ 	�$�K��% �� \�( X ��7�dB� :�� <#U¢�: 
 ms10)/(τ

3×′= cp (41) 

��=: 
 p′:  	�����T� 	(*�� 	T�#�(km) 5��$�K�� � qSK2 (13) �(19) ��6KdB� R��2��� hr � $0� 


l#1�� 1.5 
 c:   >�?�� 	C� (km/s) � >�Sf���z� . 

\�( N �� ��7�d� ����N @A 3�$��� � `(������ ��7�dB� :�� 0�0J 
6¤. 
3.2.10 �
��G�;:�� 	
���� ����] 

	�$�9�CB�% &'���� � I���� >��8�� /0s�#�: 
A �^�+ �G� P�� ��c#�� @km 9 000: 

 !�S��1  

9�h�� \�( ¨� ]��� !0� $0U�2Ew 52�1��� � !$����� 	1��S�� R�'2�% 2.5� 3.5. 
!�S�� 2  ]��� !0� |��� �h�T l�� P�� Y�QX� 	S�7��� <��� X� ;�L 0�0J l��)EW – A ((dB). 
 !�S��3  52�S�� � !$0e� <��� X� 
�(1 �N (2� $0U�� 
 !-T���� � <��� X� ;�L $0U�2� 
3B�N ������ \�( X

Tw3B�N ������ \�( X� 
� 	#�1�� . 
 !�S��4  @A �^�+ �G� P�� ��c#��% )(K�� �9�Tkm 7 000 /0s�#� �N 
!-T���� � 	(����� <��� X� !�0� ;L l�� 


 !�1��� � $����� `(Q�0�� ]�96� B� >��8A4.5 )(K�� �9�T  5% �^�+ b����� P�� ��c#��%7 000� km 9 000 

 	� � X� !��0�� 	�$�9�C� $0U�2�(BCR) !�1��� � $����� >��8�� /�0s� �% 1.10 >��8A �9K�#� }-��� 

]�0i� 1 	������ 
� ITU-R P.842 .	%�(S�� >���?�� @A !����� 	'#d �9K�#2�
 S/Nr 
!�S�� � 10 
� 
]�0i� D�E. 
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� !�S�5  !�S�� � �$0J P�� <��� X� 
� ~�7d \�( N }X M�� �EA2:���� !-T�d |��r�2 `(���2 ��7�d� ����N 
 
Tw !��0�� 	�$�9�C�% 	���� D(�� 	(��Z 	1��+ /�0s� �% $0U�2 <��� X� ,-. 
C l8���� 	�$�9�CB� _1d M T 


 ]�0i� � !$����� 	���L��3 	������ 
� ITU-R P.842 � !$����� 	�'#��� 	��9z� <#d 
C ��K�#2 P��� 

 !�S��3 ]�0i� 
� 3 	'#���% A 52�S�� ��9(K� ;�L >�SC % /�� @A /�� 
� �k�f��� ���C �.�r�2� 5� 8 
	9�1�� dB 0 .!$0K��� <��� X� m�S­� ���C�
 RM !�S�� � p2���� ���K�� �. 
12 ]�0i� 
� 3. 

 N ¸=H�� 52�S�� � !$����� 	��7K�� ��T��­B� l�� � ����� !$�CA }���?�� 
� M�6� 0� �d6� 9 
� 
]�0i� 3<��� X� �H�Q�% �(�¬ 0� �B�9�=B� ;�|�2 MA EA . 

 !�S��6  ��1'+ ~ � 	��= 
C l8���� $$���� ���� M�6� MN ;���� 
��W�dB� �h�T ;���� P�� ����X�� )+���� y��Q
 $�0§ ��6KdB�Hz 1�9h¢� ��'1�� �-. 
� 3�$$�2 MN 	1��S�� ,-. ����2� 
. 
 
C �^�+ ���� P�� ��c#��km 9 000 

 !�1��� � 	����� D(2 `. 	'���� !����� ]�w !0�3.5 . 
9� y�0�2 	'���� !����� ,-. p��¢2 P�� <��� X� MN ����¢��
 ,�0� ��7�d� :�� 0�04ms 3 0�C km 7 000 @A �G�� 3��«�02 $�$g�� ms 5 0�C km 20 000 . :���� !-T�d :d�� �EA�

�*�$N m��7% `�� 
� /����� Ma% &'���� 
6¤ �-. ��7�dB� :�� 0�04 
� ��N /���(� 	GGs��. 

3.10 5L���6:� ��s�*:� 
8���� 0�09��� \�#= �8N 
� 	������ ���S��% /��1�� `f'�� 
D�E 
C 3H?T ��W�dB� yE�� `C0�#� }-��� ��W�dB� 
C l

 )U(�� � $����� `*��� B�1. 
 !�S��7  ���-��� � !$0e� 	�T��fi� )+����� ����X� � ��W�dB� ,�$�� :�� 0�04 q(C c#�� Y�Sd� �EA(1 	��$ :1'+ 

B� !0�� :���� !-T�d �Q�$ \�( N �� q(C !$��g�� ����N � :���� ��W�d� ��W�dpTspread !-T�d 	T�= � $�8��� 
 :����Tw. 

 !�S��8  ���-��� � !$0e� 	�T��fi� )+���� �� ����X� � ��W�dB� ,�$�� $$�2 0�04 q(C c#�� Y�Sd� �EA(1 	��$ :1'+ 
 $$���� ��W�d�pFspread-T�d ���= � !������ $$���� ��W�d� !0� �08�� 
9�h�� \�( X� q(C  $$���� !Fw. 

 !�S��9  }N 	'#d �|��� �EApTspread� / �NpFspread !�S�� � $�� �9� 

9�h�� \�( ¨� 	������ 	d�6�� 	��  @A (1 
 	'#��� -T����� ���= q(C ,HCNA !�S�� � �9� \�#z� �"�� 
5 ,HCN ) ��9(K� ]�0'� �% Ii !�S��2 
� 

 ]�0i�3)  	������ITU-R P.842 ( 	9(K��%pTspread� / �NpFspread ( m�S­H� ]�9�=� qG�N >�SCA �8N 
�
 
��W�dB� 
C l8����RSmax. 

 !�S��10 	������ 	��0�� � 	���L�� !��0�� 	�$�9�C� qSK2: 
 (BCR) × (RM) × (1 − (1 − RSmax) (probocc)) (42) 

 ��W�dB� ��h� ]�9�=� ��=probocc ���-��� � ��K� 1. 
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 .�
g���1 
 �"�G��1 

 �
�����
��� ������ ����W_ 5L���6:� ��s�*:� If�t(HF) 

1  !�W���� 	d�6�� 
� !�"#���� !�01(� ��g�� ��W�dB� yE�� qSK�pTspread}$�C �Gd `9����u�� ;�|�2 � : 

 spreadT
mTspread

m

p.p
2

2

2

)–(–

e0560

ττ

= 

 �h�T M�62 P�� �B�z� �τ 
� x�N τm. 
��=: 

 pm: \�( ¨� }����� ��6KdB� 
� 	('1�#�� !�#���� !�01�� 
 τ: �K�� ��7�dB� :�� 
 τm: }����� \�( X� � ��7�dB� :�� 

 Tspread :  �.� `�G��� ;�|���� �-. � :���� 0�09�� }���K�� ���­B�ms 1. 
2 ,�k�f2 �6�� � ��� $$���� ]�= ������ $$���� 0�04 � ��W�dB�:���� 0�04 � ���Z : 

 spreadF

ff

mFspread

m

p.p
2

2

2

)–(–

e0560= 
��=: 

 f : V�K�� $$���� 
 fm : V�¶ ��� }g���� $$���� 

 Fspread :  �.� $$���� 0�09�� }���K�� ���­B�Hz 3 

3  
�h� � $0� /�� � ��W�dB� ��h� ]�9�=�probocc	�HK�� � qSK� 
: 
 SRTocc FFFFprob

ldλ= 

��=: 

°<λ<°=

°<λ<°








 −λ









 λ−
=

°<λ<°=

λ

λ

λ

9025for0

2515for
5

10

10

25

150for1

2

d

d
dd

d

d

d

d

F

F

F

 

��= λd� �. `#�S�f�� ���. 
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
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
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T
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TF
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TF
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��=: 

 Tl: V��C�#��% 3��01� 	'����� 	S1d 0�C `(e� :������ 
 =FR (0.1 + 0.008R12) �N (1 
�f�N �9h�N�  R12`#97�� �¡(¡6�� �. 

� 
( )( )1.560sin0.450.55 −+= mFS

o 

 ��=m �. ��h7�� $0C. 
4 ��8A M�6�  � 52$0e� $$����� :���� ·-T�d $�0z 3�K'2 $$����� :���� ��W�d� ��d�6� ����  0�0J &'���� >

/0s�#�� ��67��� /��d . $�0= 
9� ;12 
9�h�� \�( ¨� 	������ 	d�6�� 	��  @A �9h��% 	��  q(CN 	'#d :d�� �EA�
�� M�6� MN ;���� 
/���(� 	GGs�� |����� 5% �Q�0�����W�dB� ��h� ]�9�=� yE�� ��SK� }-�� ]�9�=B� 
9� /���. 

___________ 
 


